
1349 (NP)

[ orOkOrU / Turn over

No. of Printed Pages : 12

!1349NPEconomics!

PART - III

yLÒ¾]WwLNñU / ECONOMICS

(ospLtU, CUYæ}xV nLxLÍqeU / Malayalam & English Version)

yopkq]i] : 2.30 oe]¨P¡ ] [ kqoLvi] oL¡ V̈V : 90

Time Allowed : 2.30 Hours ] [Maximum Marks : 90

j]¡SÇw°¥ : (1) S\Lh|¨asLô]Rs A\ÿa]pORa YOej]svLqU kq]SwLi]¨OW.
IRÍË]sOU SkLqLpÜWtORºË]¤ zL¥ yPÕ¡RRvyrOoLp]
mÌRÕaOW.

(2) IuOfOvLjOU Aa]vqp]aOvLjOU WrOSÕL j}sSpL j]r¾]sOç
ox]oLNfU DkSpLY]¨OW . \]Nf°¥ vqàOvL¢ Rk¢y]¤
DkSpLY]¨LU.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

nLYU & I  /PART - I

WOr]ÕV : (i) IsæL S\Lh|°¥¨OU D¾qU j¤WOW.

(ii) fÐ]q]¨OÐ jLsV D¾q°t]¤j]ÐV JãvOU SpL^]\ÿ D¾qU

f]qR´aO¾VV  D¾qvOU KLkVVx¢ SWLcOU IuOfOW.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.

20x1=20
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1. hLq]Nh| j]¡vÞj¾]R£ Dk³LfLvLeV :

(a) B¤RNlcV oL¡x¤ (b) spe¤ SrLm]¢yV

(c) BhU yÜ]¾V (d) yLoOv¤y¦
The author of scarcity definition is :

(a) Alfred Marshall (b) Lionel Robbins

(c) Adam Smith (d) Samuelson

2. kLqÒqLYf ijv|vò KqO :

(a) Ai]WLq ijv|vò (b) jLe|kqoLp ijv|vò

(c) Dk^}vj ijv|vò (d) WSÒLt ijv|vò
Traditional economy is a :

(a) Command economy (b) Monetary economy

(c) Subsistence economy (d) Market economy

3. Aj]vLq|fW¥, yTWq|°¥, BcUmq°¥ IÐ]v :

(a) DkSpLYoOçvpORa v¡«}WqeU

(b) Bvw|oLpvpORa v¡«}WqeU

(c) yT^j| yLij°tORapOU Syvj°tORapOU v¡«}WqeU

(d) SvºOÐvpORa v¡«}WqeU
Necessaries, comforts and luxuries are :

(a) Classification of utility

(b) Classification of demand

(c) Classification of free goods and services

(d) Classification of wants

4. DkSnL©Q mL¨]pLeV :

(a) c]oL£V=yRRkæ

(b) c]oL£V > yRRkæ

(c) RkLŸ¢x|¤ v]s−pgL¡À v]s
(d) MVn=TVn−TVn−1

Consumer surplus is :

(a) Demand=Supply

(b) Demand > Supply

(c) Potential Price−Actual Price

(d) MVn=TVn−TVn−1
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5. oL¡^]j¤ DkSpLYSpLY|f kP^|oLWOSÒL¥ :

(a) BRW DkSpLYSpLY|f DpqL¢ fOa°OÐO

(b) BRW DkSpLYSpLY|f WOrpL¢ fOa°OÐO

(c) BRW DkSpLYSpLY|f JãvOU fLRu I¾OÐO

(d) BRW DkSpLYSpLY|f JãvOU kqoLvi] I¾OÐO

When marginal utility becomes Zero :

(a) The total utility starts increasing

(b) The total utility starts decreasing

(c) The total utility reaches the minimum

(d) The total utility reaches the maximum

6. c]oL£]R£ Dp¡Þÿ WLe]¨OÐfVV :

(a) c]oL£V W¡v]Rs Dp¡Ð m]ÎOv]jL¤

(b) c]oL£V W¡v]Rs fLuVÐ m]ÎOv]jL¤

(c) c]oL£V W¡v]R£ v|f]pLj°tL¤

(d) ASf c]oL£V W¡v]R£ Þsj¾L¤

Increase in demand is shown by :

(a) The highest point on the demand curve

(b) The lowest point on the demand curve

(c) Shifts of the demand curve

(d) Movement along the same demand curve

7. c]oL£]R£ ASj|Lj| CsLñ]Wf RjYã}vLWOSÒL¥ :

(a) X, Y yLij°¥ kWq¨LqLeV

(b) X, Y yLij°¥ WQf|oLp kWq¨LqLeV

(c) X, Y yLij°¥ V̈ mÌo]sæ

(d) X, Y yLij°¥ kPqWoLeV

When cross elasticity of demand is negative :

(a) X and Y goods are substitutes

(b) X and Y goods are perfect substitutes

(c) X and Y goods are not related

(d) X and Y goods are complementary
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8. yÍOsj m]ÎOv]¤ :

(a) KSq KqO v]s NkmsoLWOÐO

(b) Bvw|RÕŸ AtvV=v]fqeU RÞáRÕŸ AtvV

(c) yRRkæ W¡v]Rj c]oL£V W¡vV SMh]¨OÐO

(d) CvRpsæLU

At the point of equilibrium :

(a) Only one price prevails

(b) Quantity demanded=Quantity supplied

(c) The demand curve intersects the supply curve

(d) All the above

9. Ds×LhjU yPÞ]Õ]¨OÐfV :

(a) v]s RRWoLãU (b) yLSËf]W v]h|

(c) DkSpLYSpLY|fpORa jLwU (d) DkSpLYSpLY|fpORa j]¡Ú]f]

Production refers to :

(a) Exchange value (b) Technology

(c) Destruction of utility (d) Creation of utility

10. KqO v]^p]pLp v|vyLp yUqUnW¢ :

(a) Ds×Lhj¾]¤ ZaW°tORa v|f|ñ WPa]SÞÿqsOW¥ f}qOoLj]¨OÐO

(b) JãvOU WOrî SvfjU RWLaO¨OÐO

(c) kOfOoW¥ y~}Wq]¨OÐO

(d) yLzy°¥ Ku]vL¨OÐO

A successful entrepreneur is one who :

(a) Decides different combinations of factors of production

(b) Pays the lowest wage

(c) Accepts innovations

(d) Avoids risks
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11. wqLwq] ò]q oPs|U sn|oLWOÐfV __________ nLY]¨OSÒLuLeV :

(a) TVC/Q (b) AC/Q (c) TC/Q (d) TFC/Q

Average fixed cost is obtained by dividing :

(a) TVC/Q (b) AC/Q (c) TC/Q (d) TFC/Q

12. __________ Rj ByPNfe W¡vV IÐV v]t]¨OÐO.

(a) h}¡ZWLs wqLwq] oPs| W¡vV (b) Nzy~WLs  wqLwq] oPs| W¡vV

(c) wqLwq] oPs| W¡vV (d) oL¡^]j¤ oPs| W¡vV

__________ is called the planning curve.

(a) Long run average cost curve (b) Short run average cost curve

(c) Average cost curve (d) Marginal cost curve

13. KqO òLkjU yÍOsjf SjaOÐfV Af]R£ __________ BWOSÒL¥ BeV.

(a) MR=AR (b) MR=AC (c) MC=MR (d) MC=AC

A firm can achieve equilibrium when its :

(a) MR=AR (b) MR=AC (c) MC=MR (d) MC=AC

14. wq]pLp oÃq¾]¤ c]oL£V W¡vV :

(a) fLSu V̈ Þq]pOÐO (b) sUmU

(c) oOWt]Ss V̈ Þq]pOÐO (d) f]qé}jU

Under perfect competition, the demand curve is :

(a) Downward sloping (b) Vertical

(c) Upward sloping (d) Horizontal
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15. Ds×Ð v|f]q©fpORa yv]Swx y~nLvoLeV :

(a) WO¾W oLÃq|U (b) c|OSpLRkLt]

(c) wq]pLp oLÃq|U (d) WO¾WLvWLwU

Product differentiation is the salient feature of :

(a) Monopolistic competition (b) Duopoly

(c) Perfect competition (d) Monopoly

16. oLSNWL yLÒ¾]WwLNñ¾]R£ oOX| NkwÔoLeV :

(a) ks]wpOU kevOU

(b) ijkqoLp jpvOU yLÒ¾]W jpvOU

(c) vqOoLjvOU RfLu]sOU

(d) v]spOU KTŸVkOŸOU

The central problem of Macro Economics is :

(a) Interest and Money

(b) Monetary Policy and Fiscal Policy

(c) Income and Employment

(d) Price and Output

17. vqOoLj j]¡¹p¾]R£ st]f y]ÈLÍU v]wh}Wq]¨L¢ RWpÔyV DkSpLY]ÞÿfV
_________.

(a) Ds×LhjvOU RÞsvOU

(b) YOe]fvOU f~q]fvOU

(c) DkSnLYvOU j]SƒkvOU

(d) RoL¾ c]oL£OU RoL¾ v]fqevOU

To explain the simple theory of income determination, Keynes used _________.

(a) Production and Expenditure

(b) Multiplier and accelerator

(c) Consumption and investment

(d) Aggregate demand and aggregate supply
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18. DkSnLY Nkv¡¾jU v]wh}Wq]¨OÐfV __________DU __________DU fÚ]sOç
mÌoLeV.

(a) vqOoLjU, yµ]f ijU (b) RÞsvV, j]SƒkU

(c) DkSnLYU, vqOoLjU (d) RÞsvV, yµ]f ijU

Consumption function explains the relationship between __________ and __________.

(a) Income, Savings (b) Expenditure, Investment

(c) Consumption, Income (d) Expenditure, Savings

19. ijjpU j]pNÍ]¨OÐfV :

(a) SWNÎ mLËV (b) y~WLq| SoXs

(c) SWNÎ Yv¦Ro£V (d) yUòLj Yv¦Ro£V

Monetary policy is controlled by :

(a) Central Bank (b) Private Sector

(c) Central Government (d) State Government

20. kP^|U Ai]xVb]f mcV^ã]¤ KLSqL v¡xvOU WqOfOÐfV KqO __________
BReÐLeV.

(a) kOf]p v¡xU (b) A¨Lho]WV v¡xU

(c) Aa]òLj v¡xU (d) yLÒ¾]W v¡xU

In zero based budget every year is considered as a :

(a) New year (b) Academic year

(c) Base year (d) Financial year
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nLYU & II / PART - II

SÞLh|U 30 j]¡mÌoLpOU D¥RÕaO¾] JRfË]sOU JuV SÞLh|°¥¨V
D¾qRouOfOW.

Answer any seven questions and question number 30 is compulsory.

21. B¤NlcV oL¡xs]R£ yLÒ¾]WwLNñ j]¡vÞjU NkñLv]¨OW.

State Alfred Marshall’s definition of Economics.

22. Bvw|WfpORa WLqe°¥ IRÍsæLU?

What are the causes of wants ?

23. c]oL£]R£ v]v]ifqU CsLñ]Wf IRÍsæLU?

What are the types of elasticity of demand ?

24. SNm V̈ CTv¢ SkLp£V IÐLRsÍV?

What is break even point ?

25. oPs| v]SvÞj¾]R£ qºV v|vòW¥ IRÍsæLU?

What are the two conditions for price discrimination ?

26. RRWoLã yÒLh|U IÐLRsÍV?

What is transfer earnings ?

27. X~Ly]& Rr£V IÐLRsÍV?

What is quasi-rent ?

7x2=14
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28. DkSnLY¾]jOç oL¡^]j¤ NkvefpORa yovLW|U j¤WOW.

Give the formula for Marginal Propensity to Consume.

29. kq]oLe Wa j]pNÍe DkWqe°¥ IRÍsæLU?

What are the instruments of quantitative credit control ?

30. RNkLl.Rys]¯LR£ An]NkLp¾]sOç j]WOf]pORa j]¡vÞjU NkñLv]¨OW.

State the Definition of a tax According to Prof. Seligman.

nLYU & III / PART - III

SÞLh|U 40 j]¡mÌoLpOU D¥RÕaO¾] JRfË]sOU JuV SÞLh|°¥¨V
D¾qRouOfOW.

Answer any seven questions and question number 40 is compulsory.

31. BhU yÜ]¾]R£ yÒ¾]R£ j]¡vÞj¾]jV If]qLpOç v]o¡wj°¥
kq]SwLi]¨OW.

Examine the criticisms against Adam Smith’s wealth definition.

32. o]è yÒhV v|vòpORa YOe°¥ v]wh}Wq]¨OW.

Explain the merits of a mixed economy.

33. KqO Ds××Ð yLi|fL W¡vV yPÞ]Õ]¨OÐRfÍV?

What does a production possibility curve refer ?

34. Y]Rl¢ v]SqLiLnLy¾]jV KqO RÞr]p WOr]ÕV IuOfOW.

Write a short-note on Giffen Paradox.

7x3=21



101349 (NP)

35. WSÒLt WLsZŸ¾]¤ yÍOsj v]s j]¡¹p]¨OÐfV I°Rj?

How is equilibrium price determined in the market period ?

36. yUqUnWR£ Nkv¡¾j°¥ IRÍsæLU?

What are the functions of entrepreneur ?

37. WO¾WLvWLwU j]pNÍ]¨OÐf]jOç q}f]W¥ IRÍsæLU?

What are the methods of controlling monopoly ?

38. v]fqe¾]R£ oL¡^]j¤ Ds××Lhj y]ÈLÍ¾]R£ j|PjfW¥ IRÍsæLU?

What are the limitations of Marginal Productivity Theory of Distribution ?

39. st]f vqOoLj j]¡¹p¾]R£ RWpÔ}y]p¢ y]ÈLÍ¾]R£ AjOoLj°¥
IRÍsæLU?

What are the assumptions of Keynesian theory of Simple Income Determination ?

40. mL¡Ÿ¡ yNÒhLp¾]R£ mOÈ]oOŸOW¥ v]wh}Wq]¨OW.

Explain the difficulties of barter system.

nLYU & IV / PART - IV

IsæL SÞLh|°¥¨OU D¾qRouOfOW. 7x5=35

Answer all the questions.

41. (a) SyLx|s]y¾]R£ y~nLv°tOU JRfË]sOU jLsV YOe°tOU
v]wh}Wq]¨OW.

ARsæË]¤

(b) Þ]Nf¾]R£ yzLpS¾LRa ƒp]¨OÐ oL¡^]j¤ DkSpLYSpLY|fL
j]poU v]vq]¨OW.

(a) Explain the features and any four merits of socialism.

OR

(b) Describe the Law of Diminishing Marginal Utility with a diagram.
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42. (a) yLiLqef~ W¡vV AkNYgj¾]R£ AjOoLj°¥ IRÍsæLU? yLiLqef~
W¡vV yo}kjU DkSpLY]¨OÐ DkSnL©L¨tORa yÍOsjf
v]wh}Wq]¨OW.

ARsæË]¤

(b) c]oL£]R£ oPs| CsLñ]WfpORa At¨s]R£ SkLp]£V q}f] v]whoLp]
v]wh}Wq]¨OW.

(a) What are the assumptions of indifference curve analysis ?  Explain consumer’s
equilibrium using indifference curve approach.

OR

(b) Explain the point method of measurement of price elasticity of demand in detail.

43. (a) c]oL£V j]poU NkñLv]¨OW. c]oL£V j]po¾]R£ Ku]vOW¥ IRÍsæLU?

ARsæË]¤

(b) Þ]Nf¾]R£ yzLpS¾LRa yÍOsj v]spORa j]¡¹pU v]wh}Wq]¨OW.

(a) State the law of demand.  What are the exceptions to the law of demand ?

OR

(b) Explain the determination of equilibrium price with a diagram.

44. (a) RISyLW~LºVyV IÐLRsÍV? AvpORa yv]SwxfW¥ v]vq]¨OW.

ARsæË]¤

(b) KqO òLkj¾]¤ vqLvOÐ v]v]i oPs|°¥ v]wh}Wq]¨OW.

(a) What are isoquants ?  Describe their characteristics.

OR

(b) Explain various costs incurred by a firm.
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45. (a)  wq]pLp oLÃq|¾]¤ Nzy~WLs¾]¤ v]spOU KTŸVkOŸOU j]¡¹p]¨OÐfV
I°Rj?

ARsæË]¤

(b) WO¾WLvWLw oLÃq|¾]¤ v]spOU KTŸVkOŸOU j]¡¹p]¨OÐfV
v]wh}Wq]¨OW.

(a) How is price and output determined in the short-run under perfect
competition ?

OR

(b) Explain the price and output determination under monopolistic competition.

46. (a) RENT R£ r]¨L¡c]p¢ y]ÈLÍU kq]SwLi]¨OW.

ARsæË]¤

(b) R^. m]. Rypõ]R£ WSÒLtj]poU v]o¡wjLÄWoLp] kq]SwLi]¨OW.

(a) Examine Ricardian theory of RENT.

OR

(b) Critically examine J.B. Say’s Law of Markets.

47. (a) ke¾]R£ kq]oLe y]ÈLÍU v]vq]¨OW.

ARsæË]¤

(b) yLÒ¾]W jp¾]R£ JRfË]sOU AµV DSÇw°¥ v]wh}Wq]¨OW.

(a) Describe the quantity theory of money.

OR

(b) Explain any five of the objectives of fiscal policy.
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